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13. 829Xt} 2.85 & 42 15X} 1.981 22 9] A5

> E

[> ®eh: 1.879

FokA S

8.29H T} 2.85 & &= & 8.29 +2.85 = 11.14
1580} 1.981 2F2 4= 15 -1.981 = 13.019
— 13.019-11.14 = 1.879
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@722 A2 B km A F5HA 2

1860m. 0/. 92km  _2 6km. R
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= km

[ 2
[> ®eh: 5.38km

1000m = 1km ©]22 1860m = 1.86km ©|t}.
1.86 + 0.92 + 2.6 = 5.38(km)
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o BAZF chgat ke, [ ol A Aol [ ked
2GR gt [ Jote] Fore woli} 2 MY oA S,
At B Alga | FuE | =AY | A3
=A(kg) | 0.75 | 0375 | 1.2 0.89

-
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it

>
>
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>

D 0.965

oFA 7HA| = 0.75 + 0.375 = 1.125(kg) ,
447 = 1.2+ 0.89 = 2.09(kg) ©|t}.
kA 2.09(kg) - 1.125(kg) = 0.965(kg)
S A A E710] 0.965(kg) o FAT
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Bobo| A gro]| 5712 = 16.874km YU T Ho]S oA A H 7R =
21.675km Ut} B Bol5 Al S AA di7tA] 7H=d|
o A7} 86.276 km 2tH Al of| A LAt o] ARl 2 km QA
oA L.

> = km

[> ®MEFD 47.727km

B !

_--86.276km_ __
2 goly A gt
K * Zare =

N -

16.874km 21.675km \‘\D_—/

A H oA DAt7tA] o] Azl

=(AA Ag])-(EFolA o5 AA A7t Q] #a])
= 86.276 — (16.874 + 21.675)

— 47.727(km)




17. oS a0 A 7} 1 ohe} 24 g uf vRs zhzF A8 Eeye]
Utk ZF @3 2717F 22 42 Q& 29ste] 2F 9 AU
7

>
> ®e 187




F29 4

et v

e

hrc]

o =
=)
AU

18. o

@ AtttelE

1__.0_.0
N

1a

® A4

® o] FHAEE

)

B

N

~a

olJ

~u

—_—

N

o

N

B

o N

B <

7o o|J

TR

By

ol © o

o NI Tl

U @

.. B oo

T o

- O

X H T
e T
T B




19. ot 179 EBS AS

7917 7@13.

7} &
o}
g | o} ul
A el
® BhAR+of @ +ut
® 7h+ib+u} @)+ttt

O e R L

L e ] gt e




12 WA of el 7hx] 7}

© At

SRR

X

S

Qv

<k
o

ol

B2




